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1. Introduction
Based on the NES WID [1], there is one objective should be studied by RAN4, which is
	1. Specify SSB-less SCell operation for inter-band CA for FR1 and co-located cells, if found feasible by RAN4 study, where a UE measures SSB transmitted on PCell or another SCell for an SCell’s time/frequency synchronization (including downlink AGC), and L1/L3 measurements, including potential enhancement on SCell activation procedures if necessary [RAN4, RAN2]


For SSB-less L1/L3 measurements, whether it is feasible that UE measures SSB transmitted on PCell or another SCell should be studied in RRM session. We provide our analysis in this contribution. 
2. [bookmark: _Hlk70326378][bookmark: OLE_LINK1][bookmark: OLE_LINK2]Discussion
Feasibility of SSB-less SCell L1/L3 measurements 
In the scenario of inter-band CA for FR1 and co-located cells, the coverage of Cells will be different depends on the frequency of CC. For example, PCell operates on CC1, SSB-less SCell operates on CC2, and frequency of CC1 is smaller than frequency of CC2. In this case, UE may under PCell coverage and out of SSB-less SCell coverage. As shown in Figure 1.
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Figure 1. The coverage of different CA
Obviously, when UE is out of SSB-less SCell coverage, there is no need to perform L1/L3 serving measurement for SSB-less SCell. Derive SSB-less SCell L1/L3 measurements results by performing L1/L3 measurements on PCell or another SCell is also unfeasible.
Observation 1: It is not necessary and feasible to derive SSB-less SCell L1/L3 serving cell measurements results by performing L1/L3 measurements on PCell or another SCell when UE is out of SSB-less SCell coverage.
Besides, the L1/L3 measurement results are also related with transmit power. If UE doesn’t know about the transmit power relationship between the RS of SSB-less SCell and measured RS, then UE couldn’t derive SSB-less SCell L1/L3 measurements results by performing L1/L3 measurements on PCell or another SCell.
[bookmark: _Hlk131678770]Observation 2: It is not feasible to derive SSB-less SCell L1/L3 measurements results by performing L1/L3 measurements on PCell or another SCell when UE doesn’t know about the transmit power relationship between the RS of SSB-less SCell and measured RS.
Moreover, the pathloss is related with operating frequency, in order to derive the pathloss of SSB-less SCell, UE should at least know the operating frequency of SSB-less SCell and measured Cell.
Observation 3: It is not feasible to derive SSB-less SCell L1/L3 measurements results by performing L1/L3 measurements on PCell or another SCell when UE doesn’t know about the operating frequency of SSB-less SCell and measured Cell.
Based on the observations above, if UE need to derive SSB-less SCell L1/L3 measurements results by performing L1/L3 measurements on PCell or another SCell, at least three pre-conditions should be fulfilled, which including:
· UE could determine whether it is in the SSB-less SCell coverage or not.
· UE could acquire the transmit power relationship between the RS of SSB-less SCell and measured RS.
· UE have the information about the operating frequency of SSB-less SCell and measured Cell.
For the first bullet, some enhanced method may need to be investigated.
For the second bullet, UE could acquire the average EPRE of the SSS RE in dBm by SS-PBCH-block Power IE for both PCell and SCells. This IE is also mandatorily to be sent. Therefore, this pre-condition could be fulfilled follow the current spec.
For the third bullet, network could signal the frequency of SSB-less SCell and measured Cell by FrequencyInfoDL/UL IE. 
Proposal 1: For UE deriving SSB-less SCell L1/L3 measurements results by performing L1/L3 measurements on PCell or another SCell, whether and how to assist UE to determine the coverage of SSB-less SCell should be further investigated.
1. Conclusion
Based on the discussion above, the following and proposals are concluded. 
Observation 1: It is not necessary and feasible to derive SSB-less SCell L1/L3 serving cell measurements results by performing L1/L3 measurements on PCell or another SCell when UE is out of SSB-less SCell coverage.
Observation 2: It is not feasible to derive SSB-less SCell L1/L3 measurements results by performing L1/L3 measurements on PCell or another SCell when UE doesn’t know about the transmit power relationship between the RS of SSB-less SCell and measured RS.
Observation 3: It is not feasible to derive SSB-less SCell L1/L3 measurements results by performing L1/L3 measurements on PCell or another SCell when UE doesn’t know about the operating frequency of SSB-less SCell and measured Cell.
Proposal 1: For UE derive SSB-less SCell L1/L3 measurements results by performing L1/L3 measurements on PCell or another SCell, whether and how to assist UE to determine the coverage of SSB-less SCell should be further investigated.
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